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A GRS FE (DX, BOOKN) GPZ( 11 ) E 730 730 730 730 730 730 730 730 730 730 730
7 3R 3¢ 82 (SX, 8OOKN) GPZ( 11 ) = 620 620 620 620 620 620 620 620 620 620 620
% 3CUR B S 2 (GD, 800KN) GPZ( 11 ) %= 580 580 580 580 580 580 580 580 580 580 580
7 U 3 1 (DX, 1000kN) GPZ( 11 ) = 840 840 840 840 840 840 840 840 840 840 840
7 3G B S JBE (SX, 1000kN) GPZ( 11 ) %= 720 720 720 720 720 720 720 720 720 720 720
7% U 3¢ 2 (GD, 1000kN) GPZ( 11 ) = 700 700 700 700 700 700 700 700 700 700 700
7 3R 52 8 (DX, 1250kN) GPZ( 11 ) = 970 970 970 970 970 970 970 970 970 970 970
AR S (SX, 1250kN) GPZ( 11 ) = 830 830 830 830 830 830 830 830 830 830 830
7 WA B S JBE (GD, 1250kN) GPZ( 11 ) %= 840 840 840 840 840 840 840 840 840 840 840
7 U 3 (DX, 1500kN) GPZ( 11 ) = 1100 1100 1100 1100 1100 1100 1100 1100 1100 1100 1100
7 3G B S JBE (SX, 1500kN) GPZ( 11 ) e 970 970 970 970 970 970 970 970 970 970 970
7 U 3 2 (GD, 1500kN) GPZ( 11 ) = 990 990 990 990 990 990 990 990 990 990 990
7 3R 52 8 (DX, 2000kN) GPZ( 11 ) %= 1560 1560 1560 1560 1560 1560 1560 1560 1560 1560 1560
AR M S (SX, 2000kN) GPZ( 11 ) = 1320 1320 1320 1320 1320 1320 1320 1320 1320 1320 1320
% 3G B S JBE (GD, 2000kN) GPZ( 11 ) = 1280 1280 1280 1280 1280 1280 1280 1280 1280 1280 1280
7 U 3 (DX, 2500kN) GPZ( 11 ) = 1990 1990 1990 1990 1990 1990 1990 1990 1990 1990 1990
% UGB S (SX, 2500kN) GPZ( 11 ) e 1670 1670 1670 1670 1670 1670 1670 1670 1670 1670 1670
F AR M S (GD, 2500kN) GPZ( 11 ) ES 1690 1690 1690 1690 1690 1690 1690 1690 1690 1690 1690
% 3R 52 8 (DX, 3000kN) GPZ( 11 ) %= 2500 2500 2500 2500 2500 2500 2500 2500 2500 2500 2500
AR M 52 (SX, 3000kN) GPZ( 11 ) = 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000 2000
% A5 B S JBE (GD, 3000kN) GPZ( 11 ) %= 2050 2050 2050 2050 2050 2050 2050 2050 2050 2050 2050
7 U 3 (DX, 3500kN) GPZ( 11 ) = 3100 3100 3100 3100 3100 3100 3100 3100 3100 3100 3100
% UGB S (SX, 3500kN) GPZ( 11 ) E 2600 2600 2600 2600 2600 2600 2600 2600 2600 2600 2600
AR S (GD, 3500kN) GPZ( 11 ) = 2400 2400 2400 2400 2400 2400 2400 2400 2400 2400 2400
7 3R 5 8 (DX, 4000kN) GPZ( 11 ) %= 3900 3900 3900 3900 3900 3900 3900 3900 3900 3900 3900
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% UGB S (SX, 4000kN) GPZ( 11 ) E 3200 3200 3200 3200 3200 3200 3200 3200 3200 3200 3200
F AR 52 (GD, 4000kN) GPZ( 11 ) = 2800 2800 2800 2800 2800 2800 2800 2800 2800 2800 2800
7 3R 52 8 (DX, 5000kN) GPZ( 11 ) %= 5200 5200 5200 5200 5200 5200 5200 5200 5200 5200 5200
7 U 3 1 (SX, 5000kN) GPZ( 11 ) = 4300 4300 4300 4300 4300 4300 4300 4300 4300 4300 4300
7 A5 B 52 B (GD, 5000kN) GPZ( 11 ) %= 4100 4100 4100 4100 4100 4100 4100 4100 4100 4100 4100
7% U 3 (DX, 6000kN) GPZ( 11 ) = 6400 6400 6400 6400 6400 6400 6400 6400 6400 6400 6400
7 VAR 5 8 (SX, 6000kN) GPZ( 11 ) = 5200 5200 5200 5200 5200 5200 5200 5200 5200 5200 5200
AR M 52 (GD, 6000KN) GPZ( 11 ) = 5200 5200 5200 5200 5200 5200 5200 5200 5200 5200 5200
JQZ(1)-10. 0-GD 10000kNEA A A 11200 11200 11200 11200 11200 11200 11200 11200 11200 11200 11200
JQZ(1)-10. 0-SX 10000kN LA Py A 10320 10320 10320 10320 10320 10320 10320 10320 10320 10320 10320
JQZ(1)-10. 0-DX 10000kNEA A A 13530 13530 13530 13530 13530 13530 13530 13530 13530 13530 13530
JQz(1)-8.0-GD 8000KNLA P A 8020 8020 8020 8020 8020 8020 8020 8020 8020 8020 8020
JQZ(1)-8. 0-SX 8000kNLL Py A 7980 7980 7980 7980 7980 7980 7980 7980 7980 7980 7980
JQZ(1)-8. 0-DX 8000KNLA P A 10000 10000 10000 10000 10000 10000 10000 10000 10000 10000 10000
JQZ(1)-6. 0-GD 6000kNLL P A 5890 5890 5890 5890 5890 5890 5890 5890 5890 5890 5890
JQZ(1)-6. 0-SX 6000kNLL P A 6240 6240 6240 6240 6240 6240 6240 6240 6240 6240 6240
JQZ (1) -6. 0-DX 6000kNLL P 0 7600 7600 7600 7600 7600 7600 7600 7600 7600 7600 7600
JQZ (1) 5. 0-GD 5000kN LA P A 4740 4740 4740 4740 4740 4740 4740 4740 4740 4740 4740
JQZ(1)-5. 0-SX 5000kNLL P A 5100 5100 5100 5100 5100 5100 5100 5100 5100 5100 5100
JQZ (1) -5. 0-DX 5000kNLL P A 6240 6240 6240 6240 6240 6240 6240 6240 6240 6240 6240
JQZ (1) -4. 0-GD 4000kNLL Py A 3620 3620 3620 3620 3620 3620 3620 3620 3620 3620 3620
JQZ(1)-4. 0-SX 4000kNLL P A 3920 3920 3920 3920 3920 3920 3920 3920 3920 3920 3920
JQZ (1) -4. 0-DX 4000kNLL Y A 5060 5060 5060 5060 5060 5060 5060 5060 5060 5060 5060
JQZ(1)-2. 5-SX 2500KN LA P A 2510 2510 2510 2510 2510 2510 2510 2510 2510 2510 2510
JQZ(1)-2. 5-DX 2500KNLL Y A 3240 3240 3240 3240 3240 3240 3240 3240 3240 3240 3240

30 1w




RERE TREMETZE M

202242 7 fy SRNIEEE I8 LR VARSTH
MEHEFR Fak CEDA
AEM JE17 i H =1 SR B2 e TR M T FMFFRIX
51 JQZ(1)-3. 0-SX 3000kNLAPY A 2970 2970 2970 2970 2970 2970 2970 2970 2970 2970 2970
52 JQZ(1)-3. 0-DX 3000kN LA Py A 3780 3780 3780 3780 3780 3780 3780 3780 3780 3780 3780
53 WUBEN, SUE ¢ 200mm LAYy m 28 28 28 28 28 28 28 28 28 28 28
54 RUREW SUE ¢ 300mm APy m 51 51 51 51 51 51 51 51 51 51 51
55 WUBEP, SUE ¢ 400mm LAYy m 83 83 83 83 83 83 83 83 83 83 83
56 RUEEW SUE ¢ 500mm PAPY m 124 124 124 124 124 124 124 124 124 124 124
57 WUEEP SUE & 600mm LAYy m 180 180 180 180 180 180 180 180 180 180 180
58 RUBEP LU ¢ 800mm AP m 310 310 310 310 310 310 310 310 310 310 310
59 LEp SN = 0| @® 100mm m 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0
60 WRE ®200mm m 21.9 21.9 21.9 21.9 21.9 21.9 21.9 21.9 21.9 21.9 21.9
61 B K E @ 50mm m 4.7 4.7 4.7 4.7 4.7 4.7 4.7 4.7 4.7 4.7 4.7
62 g K @® 100mm m 7.9 7.9 7.9 7.9 7.9 7.9 7.9 7.9 7.9 7.9 7.9
63 HAIEKE @ 150mm m 13.4 13.4 13.4 13.4 13.4 13.4 13.4 13.4 13. 4 13.4 13. 4
64 g K @ 200mm n 22,4 22.4 22.4 22.4 22.4 22. 4 22.4 22.4 22.4 22.4 22.4
65 + 1A 250g/m2 n2 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0
66 + T A 300g/m2 n2 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0
67 + T A 500g/m2 n2 4.8 4.8 4.8 4.8 4.8 4.8 4.8 4.8 4.8 4.8 4.8
68 + T 300g/m2 m2 3.5 3.5 3.5 3.5 3.5 3.5 3.5 3.5 3.5 3.5 3.5
69 L 500g/m2 m2 5.6 5.6 5.6 5.6 5.6 5.6 5.6 5.6 5.6 5.6 5.6
70 ) 58 A o b A A i F720KN X 20KN n? 4.1 4.1 4.1 2 4.1 4.1 4.1 4.1 4.1 4.1 4.1
71 X a) 5 P A b A A i /725KN X 25KN m2 542 5.2 5.2 5.2 5.2 5.2 5.2 5.2 5.2 5.2 5.2
72 ) 5 A o b T A A 1 7730KN X 30KN n2 6.6 6.6 6.6 6.6 6.6 6.6 6.6 6.6 6.6 6.6 6.6
73 X a) 5 P A b A AT i 7735KN X 35KN n? 8.1 8.1 8.1 8.1 8.1 8.1 8.1 8.1 8.1 8.1 8.1
74 ) 58 P ok T A AT Hi 7740KN X 40KN m2 10.2 10. 2 10.2 10.2 10. 2 10.2 10.2 10.2 10.2 10.2 10.2
75 B2 A TAS A $iI 7730KN X 30KN m2 2.1 2.1 2.1 2.1 2.1 2.1 2.1 2.1 2.1 2.1 2.1
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76 BEAF £ T AR i /740KN X 40KN n2 2.5 2.5 2.5 2.5 2.5 2.5 2.5 2.5 2.5 2.5 2.5
77 PEAF A T AR HiI 7750KN X 50KN n2 2.6 2.6 2.6 2.6 2.6 2.6 2.6 2.6 2.6 2.6 2.6
78 BEAF 4 T AR $iI 7760KN X 60KN n2 3.1 3t 3.1 3.1 3.1 3.1 3.1 3.1 3.1 3.1 3.1
79 ol HE BT 400W o 2700 2700 2700 2700 2700 2700 2700 2700 2700 2700 2700
80 e AT 250W F- 1700 1700 1700 1700 1700 1700 1700 1700 1700 1700 1700
81 e AT 150W £ 1100 1100 1100 1100 1100 1100 1100 1100 1100 1100 1100
82 e AT L00W E 1000 1000 1000 1000 1000 1000 1000 1000 1000 1000 1000
83 o HE BT 70W = 930 930 930 930 930 930 930 930 930 930 930
84 fiiE LED 4T BT, 507 £ 610 610 610 610 610 610 610 610 610 610 610
85 f#iE LED 4T bnagdT, 20w £ 800 800 800 800 800 800 800 800 800 800 800
86 B%iE LED 4T JnEEAT, 60w = 800 800 800 800 800 800 800 800 800 800 800
87 F&iE LED 4T JEERAT,  100W £ 1100 1100 1100 1100 1100 1100 1100 1100 1100 1100 1100
88 fiiE LED 4T fnsEAT, 140W =S 1400 1400 1400 1400 1400 1400 1400 1400 1400 1400 1400
89 B&iE LED 4T FEIRAT, 500 B> 610 610 610 610 610 610 610 610 610 610 610
90 LEDS AT ST AT :6m. THER60W = 2400 2400 2400 2400 2400 2400 2400 2400 2400 2400 2400
91 LED S B AT JTFF - 6m. ZhZR100W £ 2700 2700 2700 2700 2700 2700 2700 2700 2700 2700 2700
92 LEDSR AT FTHF i 6my THER150W = 2900 2900 2900 2900 2900 2900 2900 2900 2900 2900 2900
93 LEDHUE B AT FTAT 7 :8my TR 100W Sy 3600 3600 3600 3600 3600 3600 3600 3600 3600 3600 3600
94 LEDSE AT KT HF7 :8m. THER150W ESS 3800 3800 3800 3800 3800 3800 3800 3800 3800 3800 3800
95 LED S B AT JTFFRG  10m. TR 100W B> 3900 3900 3900 3900 3900 3900 3900 3900 3900 3900 3900
96 LEDHE AT JIHFFES : 10m. B 1500 = 4100 4100 4100 4100 4100 4100 4100 4100 4100 4100 4100
97 LEDHE BT YTFFEG : 12m0 TR 100W £ 5000 5000 5000 5000 5000 5000 5000 5000 5000 5000 5000
98 LEDSR AT ST AT 12m. THER150W =S 5200 5200 5200 5200 5200 5200 5200 5200 5200 5200 5200
99 LED S B AT ST AT 12ms THER200W B> 5400 5400 5400 5400 5400 5400 5400 5400 5400 5400 5400
100 LEDXUE kT KT FFE :8my TEE2%k100W ESS 4500 4500 4500 4500 4500 4500 4500 4500 4500 4500 4500
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101 LEDXUE 4T KU FFE  8my TEE2%k150W = 4900 4900 4900 4900 4900 4900 4900 4900 4900 4900 4900
102 LEDXUE B8 AT JTFF : 10my ThEe2%100W B> 5100 5100 5100 5100 5100 5100 5100 5100 5100 5100 5100
103 LEDXUE kT ST - 10m. ThFE 21500 ESS 5600 5600 5600 5600 5600 5600 5600 5600 5600 5600 5600
104 LEDXUE B AT JTFFEG: 12m0 ThER2%100W £ 6400 6400 6400 6400 6400 6400 6400 6400 6400 6400 6400
105 LEDXUE kT JTFF®E - 12m0 THEE 21500 = 6800 6800 6800 6800 6800 6800 6800 6800 6800 6800 6800
106 LEDXUE B8 AT JIFFES: 12m0 TER2%200W £ 7200 7200 7200 7200 7200 7200 7200 7200 7200 7200 7200
107 AR BT A A8 QmekAmek2m & 66600 66600 66600 66600 66600 66600 66600 66600 66600 66600 66600
108 AERRTE BT K FE 40m* a 40800 40800 40800 40800 40800 40800 40800 40800 40800 40800 40800
109 AFEW BT ARG 4%3%2m & 32400 32400 32400 32400 32400 32400 32400 32400 32400 32400 32400
110 SDFF%3E KL L 69(;4;70:“‘36/;01_“5;76%3: @ ZRSTkw & 28500 28500 28500 28500 28500 28500 28500 28500 28500 28500 28500
111 SDF% 38 KL g 158(&3301"382‘&2413);? 2HT5kw = 49800 49800 49800 49800 49800 49800 49800 49800 49800 49800 49800
112 SDFF%3E KL Lt 1770);1%{0“1;2/6“‘01_“685?5 ¢ ZRLLOkw & 82500 82500 82500 82500 82500 82500 82500 82500 82500 82500 82500
113 BT L 2m 0 26.5 26.5 26.5 26.5 26.5 26.5 26.5 26.5 26.5 26.5 26.5
114 WA A RS 705 AZ% t 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500 5500
115 A A5 105 A% t 5400 5400 5400 5400 5400 5400 5400 5400 5400 5400 5400
116 AT PC-3 t 3600 3600 3600 3600 3600 3600 3600 3600 3600 3600 3600
117 AT SBR t 3800 3800 3800 3800 3800 3800 3800 3800 3800 3800 3800
118 UPS (6KVA, 7EZR5X) T-6KVA S HLjtn B 3 B A & 2100 2100 2100 2100 2100 2100 2100 2100 2100 2100 2100
119 UPS (10KVA, 7E£E30) T-10KVA & et =AH =40 H & 8200 8200 8200 8200 8200 8200 8200 8200 8200 8200 8200
120 UPS (15KVA, #EZF) T-15KVA A4 el =13 = A0 & 10600 10600 10600 10600 10600 10600 10600 10600 10600 10600 10600
121 UPS (20KVA, 7EZE30) T-20KVA AErefith =i =4 & 11300 11300 11300 11300 11300 11300 11300 11300 11300 11300 11300
122 UPS (30KVA, #E£830) T-30KVA A& il = Ak = AR H & 14000 14000 14000 14000 14000 14000 14000 14000 14000 14000 14000
123 UPS (60KVA, 7EZE30) T-60KVA ANErefith =ik =t & 21600 21600 21600 21600 21600 21600 21600 21600 21600 21600 21600
124 |  UPS(100KVA, #£70) T-100KVA A5 it =R = Al = 40000 40000 40000 40000 40000 40000 40000 40000 40000 40000 40000
125 |  UPS(120KVA, 7EZ=) T-120KVA M =ARZE = AR & 48600 48600 48600 48600 48600 48600 48600 48600 48600 48600 48600
e U, 11 i




E SV ATTPEE D
BEAEELEMENTSE B
202242 7 fy BB R(EE CREL18lD fi: I
Frs R4 B ks AL
&M JZi] HH = SR RS Y%= T I P TEMITFRIX
1 78 35U 3¢ 18 (DX, 800KN) GPZ( I £ 640 640 640 640 640 640 640 640 640 640 640
2 A GRS P (SX, BOOKN) GPZ( I E 550 550 550 550 550 550 550 550 550 550 550
3| RS (GD, BOOKN) GPZ( I ESS 520 520 520 520 520 520 520 520 520 520 520
4 | @5 (DX, 1000kN) GPZ( I =S 740 740 740 740 740 740 740 740 740 740 740
5 | RS (SX, 1000kN) GPZ( I B> 640 640 640 640 640 640 640 640 640 640 640
6 | 5B (GD, 1000kN) GPZ( I £ 620 620 620 620 620 620 620 620 620 620 620
7| AR S (DX, 1250kN) GPZ( I £ 860 860 860 860 860 860 860 860 860 860 860
8 | 5 (SX, 1250kN) GPZ( I = 730 730 730 730 730 730 730 730 730 730 730
9 | A=K HEE (GD, 1250kN) GPZ( I ESS 740 740 740 740 740 740 740 740 740 740 740
10 | #& U S HE (DX, 1500kN) GPZ( I = 970 970 970 970 970 970 970 970 970 970 970
11| @RS (SX, 1500kN) GPZ( I £ 860 860 860 860 860 860 860 860 860 860 860
12| 7 aCB SCJE (6D, 1500kN) GPZ( I = 880 880 880 880 880 880 880 880 880 880 880
13| AR (DX, 2000kN) GPZ( I = 1400 1400 1400 1400 1400 1400 1400 1400 1400 1400 1400
14 | U IS EE (SX, 2000kN) GPZ( I £ 1200 1200 1200 1200 1200 1200 1200 1200 1200 1200 1200
15 | @RS (GD, 2000kN) GPZ( 1I B> 1150 1150 1150 1150 1150 1150 1150 1150 1150 1150 1150
16 | & xUR S e (DX, 2500kN) GPZ( I £ 1800 1800 1800 1800 1800 1800 1800 1800 1800 1800 1800
17 | @GS (SX, 2500kN) GPZ( I B> 1500 1500 1500 1500 1500 1500 1500 1500 1500 1500 1500
18 | 7 xCUhE B S (GD, 2500kN) GPZ( I =S 1500 1500 1500 1500 1500 1500 1500 1500 1500 1500 1500
19 | 730k 38 (DX, 3000kN) GPZ( I Sy 2200 2200 2200 2200 2200 2200 2200 2200 2200 2200 2200
20 | A5 (SX, 3000kN) GPZ( I £ 1750 1750 1750 1750 1750 1750 1750 1750 1750 1750 1750
21 | #& NS (GD, 3000kN) GPZ( I B> 1800 1800 1800 1800 1800 1800 1800 1800 1800 1800 1800
22 | 5 (DX, 3500kN) GPZ( I £ 2800 2800 2800 2800 2800 2800 2800 2800 2800 2800 2800
23 | IR S (SX, 3500kN) GPZ( I £ 2300 2300 2300 2300 2300 2300 2300 2300 2300 2300 2300
24 | AR HE (GD, 3500kN) GPZ( I E 2100 2100 2100 2100 2100 2100 2100 2100 2100 2100 2100
25 | =M S HE (DX, 4000kN) GPZ( I ESS 3400 3400 3400 3400 3400 3400 3400 3400 3400 3400 3400
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26 | 7haNRR S (SX, 4000kN) GPZ( 11 ) = 2800 2800 2800 2800 2800 2800 2800 2800 2800 2800 2800
27 | AR HE (GD, 4000kN) GPZ( 11 ) E 2500 2500 2500 2500 2500 2500 2500 2500 2500 2500 2500
28 | =K 3 HE (DX, 5000kN) GPZ( 11 ) = 4600 4600 4600 4600 4600 4600 4600 4600 4600 4600 4600
29 | 5B (SX, 5000kN) GPZ( 11 ) %= 3800 3800 3800 3800 3800 3800 3800 3800 3800 3800 3800
30 | #haNHR S (GD, 5000kN) GPZ( 11 ) = 3600 3600 3600 3600 3600 3600 3600 3600 3600 3600 3600
31 | @5 (DX, 6000kN) GPZ( 11 ) %= 5700 5700 5700 5700 5700 5700 5700 5700 5700 5700 5700
32 | R S (SX, 6000KN) GPZ( 11 ) = 4600 4600 4600 4600 4600 4600 4600 4600 4600 4600 4600
33 | a5 (GD, 6000kN) GPZ( 11 ) %= 4600 4600 4600 4600 4600 4600 4600 4600 4600 4600 4600
34 JQZ(1)-10. 0-GD 10000kN LAY A 9900 9900 9900 9900 9900 9900 9900 9900 9900 9900 9900
35 JQZ(1)-10. 0-SX 10000kNEA A A 9100 9100 9100 9100 9100 9100 9100 9100 9100 9100 9100
36 JQZ(1)-10. 0-DX 10000kN LAY A 12000 12000 12000 12000 12000 12000 12000 12000 12000 12000 12000
37 JQZ(1)-8. 0-GD 8000KNLA P A 7100 7100 7100 7100 7100 7100 7100 7100 7100 7100 7100
38 JQZ(1)-8. 0-SX 8000kN LAY A 7100 7100 7100 7100 7100 7100 7100 7100 7100 7100 7100
39 JQZ(1)-8. 0-DX 8000kNLA P A 8900 8900 8900 8900 8900 8900 8900 8900 8900 8900 8900
40 JQZ (1) 6. 0-GD 6000kNLA P A 5210 5210 5210 5210 5210 5210 5210 5210 5210 5210 5210
41 JQZ (1) 6. 0-SX 6000kNLA Y A 5530 5530 5530 5530 5530 5530 5530 5530 5530 5530 5530
42 JQZ (1) 6. 0-DX 6000kN LAY A 6730 6730 6730 6730 6730 6730 6730 6730 6730 6730 6730
43 JQZ(1)-5. 0-GD 5000kN LA A 4200 4200 4200 4200 4200 4200 4200 4200 4200 4200 4200
44 JQZ(1)-5. 0-SX 5000kN LAY A 4510 4510 4510 4510 4510 4510 4510 4510 4510 4510 4510
45 JQZ(1)-5. 0-DX 5000kN LAY A 5520 5520 5520 5520 5520 5520 5520 5520 5520 5520 5520
46 JQZ (1) -4. 0-GD 4000kNLAPY A 3200 3200 3200 3200 3200 3200 3200 3200 3200 3200 3200
47 JQZ (1) -4. 0-SX 4000kNLA P A 3470 3470 3470 3470 3470 3470 3470 3470 3470 3470 3470
48 JQZ (1) -4. 0-DX 4000kNLAPY A 4470 4470 4470 4470 4470 4470 4470 4470 4470 4470 4470
49 JQZ(1)-2. 5-SX 2500KN LAY A 2230 2230 2230 2230 2230 2230 2230 2230 2230 2230 2230
50 JQZ (1) -2. 5-DX 2500KNLA P A 2870 2870 2870 2870 2870 2870 2870 2870 2870 2870 2870
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51 JQZ(1)-3. 0-SX 3000kNEAY A 2630 2630 2630 2630 2630 2630 2630 2630 2630 2630 2630
52 JQZ(1)-3. 0-DX 3000kNEA 0 3350 3350 3350 3350 3350 3350 3350 3350 3350 3350 3350
53 WUEEP A $200mm AP m 25 25 25 25 25 25 25 25 25 25 25
54 RUEE SO $300mm AN m 45 45 45 45 45 45 45 45 45 45 45
55 WUEER LU ¢ 400mm APy m 73 73 73 73 73 73 73 73 73 73 73
56 KUEE G SO ¢ 500mm LAYy m 109 109 109 109 109 109 109 109 109 109 109
57 WUEEW LU $600mm AP m 160 160 160 160 160 160 160 160 160 160 160
58 WUBEP SUE ¢ 800mm LAYy m 272 272 272 272 272 272 272 272 272 272 272
59 WEE ® 100mm m 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0
60 HWEE ®200mm m 19.4 19.4 19. 4 19.4 19.4 19.4 19.4 19.4 19.4 19.4 19.4
61 g K E ® 50mm m 4.2 4.2 4.2 4.2 4.2 4.2 4.2 4.2 4.2 4.2 4.2
62 B K E @ 100mm m 7.2 7.2 7.2 7.2 7.2 7.2 7.2 7.2 7.2 7.2 7.2
63 g K E @ 150mm m 12.0 12.0 12.0 12.0 12.0 12.0 12.0 12.0 12.0 12.0 12.0
64 B KE @ 200mm m 20.2 20.2 20.2 20.2 20.2 20. 2 20.2 20. 2 20. 2 20. 2 20. 2
65 + 1A 250g/m2 m2 1.8 1.8 1.8 1.8 1.8 1.8 1.8 1.8 1.8 1.8 1.8
66 + A 300g/m2 m2 2.7 2.7 2.7 2.7 2.7 2.7 2.7 2.7 2.7 2.7 2.7
67 + 1A 500g/m2 m2 4.4 4.4 4.4 4.4 4.4 4.4 4.4 4.4 4.4 4.4 4.4
68 + T 300g/m2 m2 3.2 3.2 3.2 3.2 3.2 3.2 3.2 3.2 3.2 3.2 3.2
69 + T 500g/m2 m2 5.0 5.0 5.0 5.0 5.0 5.0 5.0 5.0 5.0 5.0 5.0
70 LI B P L AR $7.7720KN X 20KN m2 3.7 3.7 3.7 3.7 3.7 3.7 3.7 3.7 3.7 3.7 3.7
71 ) 5 A A b A A $L7725KN X 25KN m2 4.6 4.6 4.6 4.6 4.6 4.6 4.6 4.6 4.6 4.6 4.6
72 X a) 5 P A b A A i 7730KN X 30KN m2 5.8 5.8 5.8 5.8 5.8 5.8 5.8 5.8 5.8 5.8 5.8
73 ) 5 A A b T A A $L7735KN X 35KN m2 7.1 7.1 7.1 7.1 7.1 7.1 7.1 7.1 7.1 7.1 7.1
74 1) SR P 0 = AR i 7740KN X 40KN m2 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0 9.0
75 B AT £ T AR $77730KN X 30KN m2 1.8 1.8 1.8 1.8 1.8 1.8 1.8 1.8 1.8 1.8 1.8
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76 Pl TARH $L7740KN X 40KN m2 2.2 2.2 2.2 2.2 2.2 2.2 2.2 2.2 2.2 2.2 2.2
77 e - TAR iz 1150KN X 50KN m2 2.3 2.3 2.3 2.3 2.3 2.3 2.3 2.3 2.3 2.3 2.3
78 B AT £ TASME $77760KN X 60KN m2 2.7 2.7 2.7 2.7 2.7 2.7 2.7 2.7 2.7 2.7 2.7
79 o R AT 400W = 2350 2350 2350 2350 2350 2350 2350 2350 2350 2350 2350
80 o HE BT 250W = 1500 1500 1500 1500 1500 1500 1500 1500 1500 1500 1500
81 AT 150 = 970 970 970 970 970 970 970 970 970 970 970
82 T AT 100W = 900 900 900 900 900 900 900 900 900 900 900
83 AT 70W = 820 820 820 820 820 820 820 820 820 820 820
84 f#iE LED 4T FEALT, 50W ESS 540 540 540 540 540 540 540 540 540 540 540
85 fi%iE LED 4T JnEEAT, 50W = 710 710 710 710 710 710 710 710 710 710 710
86 F&iE LED 4T JHERAT, 60w £ 710 710 710 710 710 710 710 710 710 710 710
87 B%iE LED 4T JnEEAT, 100W = 1010 1010 1010 1010 1010 1010 1010 1010 1010 1010 1010
88 F&iE LED 4T THERAT . 140W = 1250 1250 1250 1250 1250 1250 1250 1250 1250 1250 1250
89 B&iE LED 4T TEIRXT, 50W £ 540 540 540 540 540 540 540 540 540 540 540
90 LED S8 B AT JT AT 6m. TIER60W B> 2100 2100 2100 2100 2100 2100 2100 2100 2100 2100 2100
91 LEDSLAE g% (T KT AP 6m. ZHER100W = 2400 2400 2400 2400 2400 2400 2400 2400 2400 2400 2400
92 LEDHE B AT JTFF - 6m. ThZR150W B> 2600 2600 2600 2600 2600 2600 2600 2600 2600 2600 2600
93 LEDSLAE B (T FTHF i 8my THER100W = 3200 3200 3200 3200 3200 3200 3200 3200 3200 3200 3200
94 LEDHE B AT FTAT 7 :8my TR 1500 Sy 3400 3400 3400 3400 3400 3400 3400 3400 3400 3400 3400
95 LEDHLE AT JIFFES: 10m, T 100W ESS 3500 3500 3500 3500 3500 3500 3500 3500 3500 3500 3500
96 LEDHE B AT JTFFEG: 10my TER 1500 B> 3600 3600 3600 3600 3600 3600 3600 3600 3600 3600 3600
97 LEDSLA B (T I AFE 1200 TFR100W = 4400 4400 4400 4400 4400 4400 4400 4400 4400 4400 4400
98 LEDHE B AT YTFFEG: 12m0 TR 1500 £ 4600 4600 4600 4600 4600 4600 4600 4600 4600 4600 4600
99 LEDHLE AT JIFFES : 12m0 TIEE200W &= 4800 4800 4800 4800 4800 4800 4800 4800 4800 4800 4800
100 LEDXUE B AT JTHF 8 TER2%100W ESS 4000 4000 4000 4000 4000 4000 4000 4000 4000 4000 4000
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101 LEDRUE 4T FTHF R 8my TyER2%150W E 4400 4400 4400 4400 4400 4400 4400 4400 4400 4400 4400
102 LEDXUE B AT JUFFET: 10my L3R 2%100W sy 4500 4500 4500 4500 4500 4500 4500 4500 4500 4500 4500
103 LEDXUE B 4T JTFFi: 10ms T2 1500 B 4900 4900 4900 4900 4900 4900 4900 4900 4900 4900 4900
104 LEDXUE B AT YT HF G 12m0 ThEE2s%100W B> 5700 5700 5700 5700 5700 5700 5700 5700 5700 5700 5700
105 LEDRUE B 4T ST HFEG  12m, ThZ2s150W E 6000 6000 6000 6000 6000 6000 6000 6000 6000 6000 6000
106 LEDXUE AT JUFFET: 12my D3E2%200W E 6300 6300 6300 6300 6300 6300 6300 6300 6300 6300 6300
107 N Omekdm*2m = 58900 58900 58900 58900 58900 58900 58900 58900 58900 58900 58900
108 e 40m* & 36100 36100 36100 36100 36100 36100 36100 36100 36100 36100 36100
109 NN 453%2m = 28700 28700 28700 28700 28700 28700 28700 28700 28700 28700 28700
110 SDFFi% & KL W 690;)1J0_maﬁ/81"01fé7£f P 2Tk = 25200 25200 25200 25200 25200 25200 25200 25200 25200 25200 25200
111 SDFF%E AL Wk 158E3§0m;2212413?f 275k & 44100 44100 44100 44100 44100 44100 44100 44100 44100 44100 44100
112 SDFF% & KL Hg: 1770;5;‘_0m132/£f6’8£§‘ ZE110kw = 73000 73000 73000 73000 73000 73000 73000 73000 73000 73000 73000
113 HTHEE I 2m A 23.5 23.5 23.5 23.5 23.5 23.5 23.5 23.5 23.5 23.5 23.5
114 LGESUN] HURE RS 705 AZ% t 4900 4900 4900 4900 4900 4900 4900 4900 4900 4900 4900
115 W FUR B 5 105 A% t 4800 4800 4800 4800 4800 4800 4800 4800 4800 4800 4800
116 AT PC-3 t 3200 3200 3200 3200 3200 3200 3200 3200 3200 3200 3200
117 S SBR t 3400 3400 3400 3400 3400 3400 3400 3400 3400 3400 3400
118 UPS (6KVA, 7E£kz0) T-6KVA ANEr el BAR AR = 1800 1800 1800 1800 1800 1800 1800 1800 1800 1800 1800
119 UPS (10KVA, fE£50) T-10KVA ANE et = AHEE=AH H = 7300 7300 7300 7300 7300 7300 7300 7300 7300 7300 7300
120 UPS (15KVA, fEZ0) T-15KVA AE et =AHEE =40 H = 9400 9400 9400 9400 9400 9400 9400 9400 9400 9400 9400
121 UPS (20KVA, #E£830) T-20KVA A& el =ik =AHH & 10000 10000 10000 10000 10000 10000 10000 10000 10000 10000 10000
122 UPS (30KVA, fEZE3) T-30KVA A% et — a3k = HA = 12400 12400 12400 12400 12400 12400 12400 12400 12400 12400 12400
123 UPS (60KVA, 7E£530) T-60KVA A% eaith =k =it = 19100 19100 19100 19100 19100 19100 19100 19100 19100 19100 19100
124 | UPS(100KVA, 7E£E30) T-100KVA A& et =AHEE=AH = 35400 35400 35400 35400 35400 35400 35400 35400 35400 35400 35400
125 | UPS(120KVA, 7E£E30) T-120KVA A it =AHBE=AH & 43000 43000 43000 43000 43000 43000 43000 43000 43000 43000 43000
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